Bond Issue Elementary Music

| <u>Item</u> | Brand | Model | Quanity | Sam Ash Quickship Corp. Unit Price/Total | West Music Unit Price/Total | Accept Bid |
|-------------------------|-----------------|--------|---------|--|---|------------|
| Bass Xylophone | Suzuki Orff Set | BX 200 | 12 | No Bid | 482.60/5,791.00 GLOBAL BEAT GBX-GBF XYLO;BASS;FIBER | Accept |
| Alto Xylophone | Suzuki Orff Set | AX 200 | 12 | No Bid | 292.60/3,511.20 GLOBAL BEAT AX-GBF XYLO;ALTO;FIBER | Accept |
| Soprano Xylophone | Suzuki Orff Set | SX 200 | 12 | No Bid | 254.60/3,055.20 GLOBAL BEAT SX-GBF XYLO;SOP;FIBER | Accept |
| Bass Metallophone | Suzuki Orff Set | BM 200 | 12 | No Bid | 494.00/5,928.00 GLOBAL BEAT MGB GB METALLO;BASS | Accept |
| Alto Metallophone | Suzuki Orff Set | AM 200 | 12 | No Bid | 285.00/3,420.00 GLOBAL BEAT MA GB METTALO;ALTO | Accept |
| Soprano Metallophone | Suzuki Orff Set | SM 200 | 12 | No Bid | 224.20/2,690.40 GLOBAL BEAT MS GB METALLO;SOP | Accept |

| Item | Brand | Model | Quanity | Sam Ash Quickship Corp. Unit Price/Total | West Music Unit Price/Total Acc | ept Bid |
|-------------------|-----------------|---------|---------|---|--|---------|
| Soprano Soprano | Diana | iviouei | Quanty | Office Frice, Total | Office Frice, Total Acc | ергыа |
| Glockenspiel | Suzuki Orff Set | SD 250 | 12 | No Bid | 76.66/912.00 GLOBAL BEAT GS GB GLOCK;SOP | Accept |
| Alto Glockenspiel | Suzuki Orff Set | AD 250 | 12 | No Bid | 79.80/957.60 GLOBAL BEAT GA GB GLOCK;ALTO | Accept |
| C Bass Bar | Suzuki Orff Set | BB-C | 12 | No Bid | 349.60/4,195.20 PRIMARY KSP 100 X C BASS BAR;SUB CONTRA; WOOD;C | Accept |
| D Bass Bar | Suzuki Orff Set | BB-D | 12 | No Bid | 349.60/4,195.20 PRIMARY KSP 100 X D BASS BAR;SUB CONTRA; WOOD;D | Accept |
| F Bass Bar | Suzuki Orff Set | BB-F | 12 | No Bid | 197.60/2,371.20 PRIMARY KSP 60 X F BASS BAR;SUB CONTRA; WOOD;F | Accept |
| G Bass Bar | Suzuki Orff Set | BB-G | 12 | No Bid | 197.60/2,371.20 PRIMARY KSP 60 X G BASS BAR;SUB CONTRA; WOOD;G | Accept |
| B Bass Bar | Suzuki Orff Set | BB-B | 12 | No Bid | 197.60/2,371.20 PRIMARY KSP 60 X B | Accept |

BASS BAR; SUB CONTRA;

WOOD;B

| <u>Item</u> | Brand | Model | Quanity | Sam Ash Quickship Corp. Unit Price/Total | West Music Unit Price/Total | Accept Bid |
|-------------------|------------------------------|--|-------------|---|--------------------------------|--------------------------------|
| Remo RT – West 12 | | | | | | |
| Tubano Package | Drum Circle Set | 12 Drum Set 1- 40" X 14" Ngoma 3- 27" X 10" Tubanos (key tuned) 5-27" X 12" Tubanos (key tuned) 3-27" X 14" Tubanos (key tuned) | 15 | 2,398.00/35,970.00 | 2,367.15/35,507.25 | Accept West Music Bid |
| Symphony Stands | Manhasset Music Stands | Model 4806 48-S | 27 5 | 34.98/9,619.50 | No Bid | Accept |
| ltem | Brand | Model | Quanity | Sam Ash Quickship Corp. Unit Price/Total | West Music Unit Price/Total | Accept Bid |
| Music Stand | Manhasset | Model 1910 | 8 | 314.90/2,519.20 | No Bid | Accept |
| Storage Carts | Music Stand Storage Carts | Cart Holds 25 Stands | | | | |
| Concert Bass | 1 Yamaha | 16" X 32" | 4 | 790.00/3,160.00 | No Bid | Accept |
| Drum | | Model YAM-CB7032C | | | | |
| Concert Bass | 1 Innovative | CB 1 Extra Large | 4 | 30.00/120.00 | No Bid | Accept |
| Drum Mallet | | Model INN-CB1 | | | | |
| Tiltable Bass | 1 Yamaha | Model | 4 | 486.00/1,944.00 | No Bid | Accept |
| Drum Stand | | YAM-BS7051 | | | | |

| Concert Steel | 2 Yamaha | CSS-AMODEL | 8 | 409.90/3,279.20 | No Bid | Accept |
|-------------------------|--------------|----------------|---------|-------------------------|------------------|------------|
| <mark>Snare Drum</mark> | | YAM-CSS1450ASW | С | | | |
| w/Case,Stands | | | | | | |
| | | | | | | |
| Band Cymbal Pair | 1 Zildjizn | 16" Model | 4 | 99.50/398.00 | No Bid | Accept |
| | | | | | | |
| | | | | Sam Ash Quickship Corp. | West Music | |
| Item | Brand | Model | Quanity | Unit Price/Total | Unit Price/Total | Accept Bid |
| Diatonic Set | Boomwhackers | C Major | 15 | No Bid | 17.41/261.15 | Accept |
| | | | | | | |
| Chromatic Set | Boomwhackers | C Major | 15 | No Bid | 11.90/178.50 | Accept |